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II-T%& HH FEEEN EAE | IRAE EENDEY 2= yEENSPT
EEX 2H16H 1 1 [ BHEEFFZRITEIE < SEDFRNFERR

EX

II—-T% )=1=! EHEL EAE | IRAE EENDEY 2= JEENGPRT
X 2H22H 1 1 417 | BEEEFZRITEXE i EEER/NFEAR
X 2H22H 1 1 417 | BEEEFZRITEXE i EEER/NFEAR
X 2H29H 1 1 783 BEHREFRITEIR i BRAR/NFEARR

X

II—-T% )=1=| FEEE EAE | IRAE EENDEF = JEENGPR
X 2A5H 1 3 10(x>wvs R T FREX
X 2H9H 1 1 8|EE-BF R RAlFT Y -EX
X 2B17H 1 1 2|9 9TEh R HEELER
X 2H18H 1 1 10[47FF W o HHESBEER
X 2823H 4 4 1200|BR~AHMR R ANEFKRFEZ A -
X 2H26H 2 2 40| Z(TRAER R mEy Tz
X 2828H 6 6 120|Z T REHNEFR R mEy Tz

BEX

I —-T% HH EREL EAE | IRAE TEENDEY IR JEENIGFR
FEX 2H22H 1 1 [ BHEFFZRITEIE =4f ] FIEH N N2
FEX 2H22H 1 1 [ BHEFFZRITEIE =4f ] FIEH N N2




JI—T%& A EEER | A | HRAE EENDEF EES SEENSFR
2H9H 1 1 500 EH=FARITERE it FEDFE/NFK
2H9H 1 1 O[FEREFFRAITE IR it FEDFE/NFK
2H9H 1 1 257 [ EFEFFRITERE it Fa LN

2H128 1 10 O|EIL%fiE it AVANREZETS
2H16H 2 2 O|F&BXE (MEZEARI>T17) it BIS/INFR
2H16H 1 1 100 EB=EFEFRITEIR it Fa LN
2H19H 1 1 2[EHEFFRITEIR it JERTNFR
2H19H 1 1 O[BBEFFRITESIER it JERTNFR
2H26H 6 6 900|E FRRETOHE it RN E/NFR
2H28H 9 9 0[F&BxiE (MEZENFZT17) it BI5/ N
2H28H 8 8 1200|&F FRETOR it RN E/NFR
2H29H 18 18 140| B TRETOHE it JFERTNFR
2H29H 5 5 800|E FRRETOHE it TR E/NFER

RHX

IINV-T% AH R [ ZEAE | WRABR mEDE ES EENSFR

RAX 2A1H 1 1 31| BERSEFFRITEUE RH FULLZNFEAR
RAX 2H21H 1 1 O[ BB =FFRITESIE RH N
RAX 2H21H 1 1 O[ BB =FFRITESIE RH N
RAX 2H26H 3 3 0[F&Bx%E (MEZENFDT17) RH BETERFR
RAX 28278 4 4 0[F&Bx%E (MEZENFDT17) RH BETERFR
AREX
II—T%& == R [ ZEAE | WRABR EENDEF EIES BN
X 2R 1H 1 8 15|X=FHTEaE A HAE—DH




JAREX 2H13H 1 1 0[#B8x%E (RE=NRFDT17) ARE TAREIINERR
JAREX 2H13H 1 1 0[#B8x%E (REZENRFDT17) ARE PR/ NFRR
JAREX 2H16H 3 3 6|FE%1E ARE BRAEIEFR
JAREX 2H16H 2 2 2[ETRESFNZIE ARE JLZBBIINER
JAREX 2H19H 2 2 120|&FRRE<FD ARE BORINFER
JAREX 2H19H 2 2 O[5 ER JAPE BOB/NER
JAREX 2H19H 1 1 OB FTRESFNZIB ARE JLZBBIINER
JAREX 28208 2 2 17|7A=99>2 ARE OB MR 5~
AREX 2H21H 2 2 O|F TREFOIE =13 LZBENER
ZAREX 2H22H 1 9 15|X2EFFTE&E =13 HE—DH
ZAREX 2H24H 2 2 0|7t - EF3RAED =13 FYYFDFKR
AREX 2827H 4 4 80|ETRESTD =13 BEE/INFER
ZAREX 2H28H 1 1 O|F TREFOIE =13 LZBENER
JAREX 28298 3 3 6|FE%i% ARE BREEZIEFR
AEX 2H29H 4 4 8|FBE A& BRAERIRFR
ZABEX 2H29H 5 10 O|BEVEOYR—bk A ABENTAABBEVOOYR-4
AEX 2H29H 1 1 O|F TRREFOZIE =153 LBENER
HIKX
II—-TJ%& HH LEHZR EAE | WRABE EENDEY = EENEFR
KX 2HA8H 1 9 O8N E A EN AR 0ERT [FK f=E
KX 2H14H 1 5 O|ERRTEESD K ZEFERAEND
HIKX 28158 1 1 200 BB EFRITEXIE ;K INERLLIINFERL
HEKX 28158 1 1 O[EEBEFRITEXIE ;K INERILIINERL
HKX 28168 1 1 OB EFRITESIR ;K INERLLINERL




#]|KX 2H16H 2 2 1000 EENEFFRITESIE K INRILVNFEAR
#]|KX 2H18H 1 5 O|REWEZE K B=J)L- I
#]|KX 2H20H 2 8 O|REWEZE ;w|K FHEREE
#]|KX 2H21H 1 1 180 | EBN=EFEFRITEIR K SELZEVINFR
#]|KX 2H21H 1 1 O[BEBEFFRITERIER K SELZEVINER
#]|KX 2H21H 1 1 O[BEBEFFRITERIER K SELZEVINER
#]|KX 2H22H 1 1 750 BEBEFFRITERE K SELZEVINFR
#]|KX 2H22H 2 2 1500 EEEFFRITEIE K SRZHVNER
#]|KX 2H27H 7 7 105|F&8XE (MEENRS>T17) w|K EREAPHR
7] =

IINV-T% AB IEEZER FEAEL | IRAE mE}DE EES EENSFR
az] = 2H8H 1 2 O|B&E-BF 7 T7N—-hF RIS
az] = 2H9H 1 7 O|E=—Hx 7 I BEAHEE
az] = 2H19H 1 1 100 EB=FFRITEXIR 7 T2 1/NFER
riz] = 2H20H 1 1 270 BEREFEFRITEIE 7 FF2E 1/NFER
riz] = 2H29H 1 2 O|F&E-BF 7 T7N=hF—RIE
iz] = 2H29H 4 4 0[F&Bx%E (MEZENFDT17) 7 HESHFR




